11 000000000000

oo o

20000 40 80 (O)
20000 40 150 (O)



@ooooo

@Uuoooo: oo
©@ooooooooo
QuUUooD: 000

Q@ooooo

Quoooo
@ooo0O00oDOoOOoDOODDOg
@Q@uUooooooooood
Quouoooo

@011 (r>0)

@012 a4/ (a>0)

@013 (1+1/n)"—e

@ ooooo-0000D00000000O
@oooooDoOO0O0DOO00DO0
@®ooooooooo



11000
ooooo

nooo 00: 000000000000
(000D0O0O0O00o0)

B R O0O000
a,beR

00 (0oOoO0)

@ at+babeR

e at+x=b000xxeROODOOO

0 a#0000 ay=b00 yeROOOOO

e JO0O0UOIUDDDDOOOOOUULODODDO

00 (0oOo0)
a>ba=ba<b000OODOOO




0oooo (o)

11000
ooooo
oooo

00 (00ODo0)
000 a,b>000000b<Na0O0000NDOOD

ooooo

00 (0O0000)
Qalg...gang...SbnS...bl

@ bp—a,—0(n— )

0000 {an},{b,} 0000

apa<c<b, n=12,---

Oobo0OOd ceROOOODO




gogoob: Ood

11000
ooooo

0oooo
00 (00 {a,} 0000 a000, limpsooan = a)
O00e>000000n>NDO

oooo

0:00 |an_a’<6

000 N=N()DOOO

0
O:ap==—0(n— )
1
n>N(e)::fDD]an—0\:f§%<e
n



0ooo0: 00 (d)

11000
ooooo
oooo

00 (00 {a,}00D0)
{a,} 000000

oooo

000 MO0 (00 {a,} 0 +oo (—o0) 000, limp_ee an = +00

(limp—o0 @an = —0))

000 MeROOOOOR>ND a,>M (a,<M)O0O0O
N=NM)ODOO

g
O: ap=+/n— 400 (n— o00):
n>NM)=M0O0D0a,>VM3>M



gogooboood

11000
ooooo
oooo

a,beR

|a+ bl <af + [b|

ooooo ||3|_|b||§|a_b|
nooo

oo:
(Jal+|B])2 —|a+bJ2 = 22+ b?+2]al[b]—(a+b)? = 2(|ab|—ab) > 0

|a— b|* — (la| = [b])* = 2(Jab| — ab) > 0



ggboboo: gdn

00000 =0000000 I

11000
ooooo
oooo

0d: a,—a,a,— b00OOOO

a#£b
oooo = e:=|a—b|/2>00 n>N()DOOO

0:000

lan —a| <€, |bp—b| <e

= |la—b|<|a—ap|+|an—b|<2e=|a—b| (0O)



00oo00: 000 (d)

11000

ooooo

oooo
lim a,=a, |bp—a|<l|a,—a|l,n=1,2,--- = lim b,=a
n—oo n—oo
O0:000e>000000n>NDO

oooo

0:000

|by —a| <la,—a| <€

000 N=N()DOOO



00oo00: 000 (d)

11000

ooooo
gooo
lim a,=a, lim b,=b,a,<b,,n=12,--- = a<b
n—oo n—oo
O0:e:=(a—b)/2>0
—n>NO
lap —a|l <€, |by—b| <e¢
oooo
0:000 000 N=N(e)oDODO
—n>NO
—b b
b,,<b+e:b+32 2342— =a—€<a,

(00)



00oo00: 000 (d)

11000
REEL
oo |
{an},{bs}00000000ceROODOO {ay = bn}, {can},
{a, b} 00000
Q lim(a, &+ b,) = lima, £ lim b,
Q lim(c-a,) =c-lima,
. © lim(an - by) = lim ay - lim by
SLLN 1, £ 0, limb, £00000{a,/b,} 00000
Q lim(an/by) = lim a,/ lim by

b>00000b,:=b/n—0 (n— 00)




11000
ooooo
oooo

ooooo

SCR
00 (SO0 (0)ooo)

000 xeSOO0000x<M (x>M)0ODODOOO
MeR(@ (0)0)0O0O000O

00 (sooa)
s00000000000

O:a<bpO00O

000 [a,b]:={xeRla<x<b}
000 (a,b):={xeRla<x< b}
ggoon

0000 Z:={-,-1,0,1,---}
uooooon



11000
ooooo
oooo

00 (000000000000)
SO0 (0)000 = 0 (0)0000 (@)0000

00 (0O0o0o00)
0(@)0000(@)000 (@)0000o0

0
O:[a,b], (a,b) 00000 5,000 a

ooooo



11000
ooooo
oooo

ooooo
ooooo
ooooo

goboooooboboooan

a:S0000000
b: SOODO

b
n:1,2,---DDDDDc,,::a"—; Ny
SO000 = apt1 = ap, bpt1 =

SO0000000 = apy1 := Cn, bpy1 = by
O000000{a,}0000000{b,} 0000000

1
bn+1 —dap41 = E(bn - an)

goooooooogoooooooobogng

1 by —a
0<bn—an:F(b1—al)§ 1n !

ob0b000a,<c<b,,n=12,--- 00000 cOOOODOO

—0




11000
ooooo
oooo

ooooo
ooooo
ooooo

O0000O0ooooooooo (o)

000 d<cec< 000000 nOD0O0ODOO
c<a,<c<b,<c"OOOO

0

cOsSOOOooOooOnO

= c<x000xesSO0n

— c<b,<x,n>NODOONOOO
— b, n>NOOODDOO (0DO)
0

cO SOO0O0OoOoOoooOooOoooo
—d<cO0000 d000
—d<a,<c,n>NOOONOOO
— a,n>NOOO0O0O00 (00)



11000
ooooo
oooo

ooooo
ooooo
oo

ggoboboooaooo

00000 =0000000000000

o0:
ima,=a00000000e>000000n>NDO

|an| —la] <fan—a| <e
000 N=N(e)0DDO0O0

lan| < max{l|ail,--- ,|an|,|a] + €}

ooogoood




gogoboboogobooood

11000
Sooe OO0 (00 {a,) 00000 (ODD))
g < a<--- (81>82>~-')
—0000000000 (00)000000
000000 (@D0)00000noo

0(@)000 = 00
0(@)000000 = 00

00: {2,)00000000000000 a(>a,)0000
ap /a(n— o0)
= 00 e>000000a—a,>e0000000O0 nOOO
= a—¢c>a,n=0L12.---000e>0000
—a—cl {a,} 000

ooooo — al {a,} 0000000 (ODO)



0oooo(a)

11000
ooooo
oooo

{ap}0000000O0OO

— 000 MOOOOOa,>MO00 nOOO

= 000 MOOOOOn>NOa,>MO00 NODOO
= lima, = +©

O

00000oOooooooooooo

ooooo



11000
ooooo
oooo

o 11:r"

r>00000{r"}2, 0

Q0<r<l=r"—-0

Q@r=1—r"->1

Qr>1=r"— 4+
O0:a:=r—1>00000000000000000000

OM>000000Na>MOOOOONOOOOOn>NO
n n n(n_1)2 n
r"=(1+a) :l—i—na—i-#a +---+a">na>Na>M

0<r<100000r>r2>--->r">...00000000

D00000000000O0a:=r"1-100000000
e>00000000000000DO00OONae>100000D0
OnNODOOOOn>NDO

PR 1 11
~(1+a)" 1+na+---+a" na~ Na




11000
ooooo
oooo

0 2: a*/" (a > 0)

O0:a>00000
lim a'/" =1

n—oo

a>10000a>aY2>3Y3> ... 000000000010
00000 (00O00)I0000 bA>1)00b>100000
h:=b—1>0000000000000

a>b"=(1+h)">nh

DDDDDDnDDDDDDDDDDDDDDDDD%DDDD
0<a<100O0Oc:=1/a>00000lma"/" =

limcl/n



L L (L= 1) oot 1= )

1 1 1
< ap < bp: 1—|—1+ -I- ETRL -+ — <3

3! n!



11000
ooooo
oooo

{ap}: OO0 DODOOUOOO (DDD e0DnO)

ap < bp

1 1 1 1 p—1
I|m {1+1+2|(1 ;)+---+a(1—;)~--(1—

IN

lim a,
n—oo

e= lim a, < I|m b, <e
p—0o0 p—

g
O0000 0000 b,0000000e=2.718281828459...



ggoob-boooooboboooan

11000

Doooo OO0 (Co0O0o0o-000000ooooooon)

oooo

0000000 S®R)DO00O0OO0O0OOO0OOOOOOOOOO

O0:0000004{x,}00000
a;: SOQO0O
bi: SOO0O

n=12---00000c, :=

Xp € Spm1 =[S —{x1,- - ,xa—1}| N[an, b)) OO OO DOODO
[an,cn] 0 S, 00000000 = apg1:= an, bpy1 :=¢p
[cn,bp) 0 S, 00000000 = apt1:= Cn, bnt1:= b

an + by

3n§Xn§bn7 b, —a, — 0

oobooboobo0bodbda, £c<b,,n=12,--- 00 cOODO

|xn — c| < |an — bn| — 0



ggoboboooobobooodan

11000
ooooo
oooo

O (CO000-000000000000000)

gboboobbooboobooboo

00: 00000 {t,}0000000000 {t,,}00000

Qt,=t,=--000000m<m<---0000000
0000 {t,})000000 800000

Q@ 000000000 00S 100 ng>m—100 t, O
{x}0000
(00000-0000000000000000)



gogooboood

11000
ooooo

000 {a,} 0000
~— 0000e>000000m,n>NDO

|am — an| < €

000000 N=N()OO0D00

1 1
0 anzl—i—f—i—---—{—;D +oo 00O

2
= L + +1>1+ +1—1
d2n an_n—i—l 2n 2n 2n 2
| e ————

n

gb:.0oobogon



	ŒÚ”�
	”À’ﬂ‡Ì„öŠš
	’ﬂŠñ‡Ì‰É„À: ™è‰`
	’â‚Î™l‡ð−Ü‡ÞŁsﬁŽ”®
	’ﬂŠñ‡Ì‰É„À: ‘ﬂ’«”¿
	‘ã−E†A›º−E
	‘ã„À†E›º„À
	…‘…C…—…V…–…g…›†[…X‡Ì™èŠš‡Ì‘ØŒ¾
	”û‚©‡·‡é’ﬂŠñ‡ÍŠL−E‡Å‡€‡é
	™P™²‡È’ﬂŠñ
	Šá1.1: rn (r>0)
	Šá1.2: a1/n (a>0)
	Šá1.3: (1+1/n)ne
	…{…‰…c…A…m-…‘…C…—…X…V…–…g…›†[…X‡Ì™èŠš
	ŠL−E‡È’ﬂŠñ‡Í”û‚©‡·‡éŁﬂŁªŠñ‡ð−Ü‡Þ
	…R†[…V†[‡Ì”û‚©‘ð„‘

